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Applying Rouché’s theorem, we may get regions isolating cluster of zeros


The red point depicts the real part of two conjugate imaginary zeros.




Both exact and inexact cases, isolation can be done algorithmically




 : a square polynomial system such that the origin 

 is an isolated zero with 


 is called a regular zero of breadth  and order  

if the Hilbert series for  at the origin is 
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Theorem (Burr-L.-Leykin) Let  be a square system in 

 variables with a regular zero of breadth  and order  

at . Then, there is a locally invertible transformation 

to a pre-inflatable system  such that
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Make this into a system with the same degree for initial 

terms:





Setting  and apply Rouché’s Theorem
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1. This can be obtained by multiplying the equations of 
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1. This can be obtained by multiplying the equations of 
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2. The singular zero has multiplicity  which is larger 
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3. A more systematic way to deal with irregular systems 

will be a future problem to pursue.
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Ta k k  f o r  d i n  
o p p m e r ks o m h e t 

Th a n k  y o u  f o r  y o u r  a t t e n t i o n ! 


( h t t p s : / / a r x i v. o rg / a b s / 2 3 0 2 . 0 4 7 7 6 )
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